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molecular sieve (bed) are plotted at 79°F and 86 psia as shown in figure 1. At that

temperature, nitrogen feed is 29.2 mol/h.ft2 with initial moisture content of 1,490 ppm.
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kg/m3
. The solid is dried from both sides with air at dry bulb temperature of BOoC.

Constant
rate

3.2. (4 points) Determine initial percentage of moisture in solid (dry basis) if

equilibrium moisture content is 0.02.



4. (15 points)

A solution of MgSO4 containing 43 g of solid per 100 g of water is cooled to

45°F in a vacuum crystallizer. During cooling, 12.53 kg of water evaporates (100 kg feed

basis). The volume of liquid in the crystallizer is 7.7 m3 and the nucleation rate is 2.7 x

109 nuclei/m3
. How much solution must be fed to produce 900 kg of crystals?
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